CB Act,3

Read the sentences and decide which belong to the Royal Opera house n
and which belong to the performance =

Read the sentences a = j below. They come from two different paragraphs in a review of Turandot at
the Royal Opera House. Paragraph | is about the Opera House. Paragraph 2 is about the performance.

In pairs, decide which phrases belong in Paragraph | and which in Paragraph 2. Write the letters of the
sentences in the appropriate column.

a The story is set in ancient Beijing. f It has marble staircases.

b It has a huge seating capacity. g Itis divided into three acts.

¢ There is a huge cast of actors. h Itis lit up at nighLC

d It opened in October 201 1. i The composer was |talian.

e The costumes are very colourful. j The carvings are done by hand.

YE



